Page 1 of 10

(Ol s Jisw JS) 1 AL ppea e
t JoY) Jlsudl
3,831 Caliies (e Lo Buoge U315 (uylad O (Sias 39l (oo Butye ¢ 193
ooyl daludly Iagpe 55au1 ¢ g9 gl
Al yjuas (|
gl -kl 3gas (@
FEPRIIN (G

- S J) )
o il Al Al e cllall

adt (0
nmiidl G 5yl gl ¢ 9aSI pe aazdl (@
ORI ENU PSRN (G
i) § el Glpdiadgs (2
= Gl ) )
Sauls |l Loyl giall e ls sy ¥ s Lo L]

AU HUasd g 2lii AT Jlas¥1 o pad Ayl oo dalaill (nSas (]
Ayl ey (St ¢ guo (po ALl ol AuiSel e slindll (<

Ay Liedlg &ls Il yo, i) B39 Olasrs Buslud! (2
L Joeall il ollls el gall JLiia¥! olosioy uslud! (2

LU gl
A gkl JS ol 10 cpasaty Lo jpazetld audoy bl coloylail gedas aic

Baguadl!l adlgudl il puds (|
Aadaal) bl Ans 1 Gdaddl slae) (<
il b &l aeall 38l (2
Ll 381 gl ol o daggs (2

§ el o¥1 o) Bra e JWIT (0
Adsll st (|
vyl Sl L | puzs (<
dlat | ezt (2

+ bl J) )
10985 Bgu Al ¢ O3l gl yas (po el Aaludl yaw 09 Loie
sttt (i
Al § olais (@




bl §5abs (2
F bl Ji sl
Jies JWl oo Gl — Busly Aage lue Lo 2091 Jles¥l alee JS ddiy ud lled! @gin maliy Gusas
§1 Lkl
Jlazng Slogany JS& & Auadll Sbibedl (ope (|
bl Al Lasyl Gedas (<
lagsbiaad! (2l ol 13ke Gudas (2
sbiled| Woua J) padedd! Aol gy L o] o2y 1 @biled! JSI AL mugadd! (2
s el )
s el — Aads gl &2l JICAT (po Buss 98 Aaids gl ¢1,3] (unlma (pa piad domlg o L] e Lo JLIT S
§1e Lk
el Loyl s ¥ (]
Bl Aed 3503 LY (&
AW 331l Ja s Ll (2
Bl aG e Jas Ll (0
 penlil) J gl
il JUI 0 (g Analgy cagllan o ple JS Bagaisell SISl Al gy bl Sl sdag 3lie
Syl fa
AaSsadl cnilgd (0
EVOV JCAPYYD.d [ (W
Ad dulell pla (2
Al el ulas (5

L L J) g
Bl et sl o1 iyl § Jgd (g Lisass JUII (e il g 353 6]
Aadldl
cBdd 2
Bylacadl — palgdl .3
Jaosll 4
B3)@.) (
@).3). («
@@ (z
4).3).(1)

Page 2 of 10



© e galall Jlsad)
§ sliiiee] Jios Ll « o181 puntalie Jenid (g3l gus Bl kel JUf JS
Aads ol alaall al Al Alase Gunlall 0985 of Ay (|
+ i) As 0985 o s (<
yall Byl s 095 O e (2
coobeddl of AasMall dpnye 09ST o s (4

C e Al Jigad)
S5 AiuwgS 9 ASTHI sl pludei] aloma oo (etd Ald) 2Ll (0 g
ot (0

Ogude Oglidius (2
»Jleaiay! dsuas (2

e SIEN J)sud)
éL c bleai¥l §lats Sudse UVl Q;L«f@ Ondoladl ¢y 95 J}.Lw.a o Ogadl Slacd! e b ydin b 13)

)92l sy o lems]
Lly (0
Lasi (<

Pl s tas (o

- b al )l Jlgad)
Scuyatl] cdpad Jundl Jies JWI s
wcdagall bl e calaadly oLl el § susbudl JM5 (0 3padl glas (]
M e i) Bgllall Aol ALl Jgon umlg slms] 13 palsl s (&
3yadl EalyaB angs Jol e s sLiy) puass (o
il gall Ay il JSLALI e cliil] B g g by s (2
P e psdlal) Jl )
Sl Talan] Jies JW) oo ol gl
Al yulaalt Llus pias¥ L) (0
(il 3981 §3) Aaald 3] 255 L) (=
¥ Aigls mllian Jslie el Bpuad auy 3l bl (c
aladls e suituw gl (2
© ke Gealdl J) sl
SeLiliwll! Ll .ol 5yl Blas Alaizme JSLie (2 iy elidins] fuie Lo JLII US
zoll ol abew (1

Page 3 of 10



Aeelain) o degazma (@
! ol gl (2

s ke bl J) )
e Gy § 355 sl Laugo W15 s Logh Aompmo JUll Shyleall o

A ddls (0

sl (@

e el J)gud)
J581 e JolS plous Jas B3 o 1,88 asll sl 0155 o e oadligl el oo DMVl Cunls Lo 35,2

Sayloll sda il Ligild mlaias ey W w;i

-

il s (]

ASyid) elye e Gy JLIN oo @l e sgqaml! Amlian e Adde Aebiill Slaslis of ST ol (e

§ pS A

Jeshadl il e qaddl ol 4als, (i
Syl Bliag oniledll Sllates Y (<
Azball oo dclendl 2als i (z
cslessdly ailiad cis pmat) dwlio Ay wpuzs (2
L O iad) J) )
€ G99l Aaats I1 Al ol s JLIH (e
RAP I PESS NN (
bl Az g adgig s (<
Slpate d) ¥ el digamty borell aSlaad | s152) (c
Bladl iyt deulic Gylo wyizs (3
- oy il g saladl J) gl
Sl Aslia (pe Bl 09 oof s JUI 0
byl olaf Aidlia (1 '
waboll bluas) gudzms (2
ghill bl mlals e daslgll (3
sl aboll wilals wums (4
3 s (m (

Page 4 of 10



@5 () (=
@5 ) (c
25 (M G
L O pall y (SN J) )
19081 s 051y oo et JWI (0
Al dasi¥l wlwle slas) (1 ,
Ayad) Sleglall (<
sl el § Jaladd! (2
Lpd aSadl Jlge¥l s (oo upadll § il (2

DOy el g GEN J) gl
@l Axliae cobo Jiay QL“«.H u-“é‘
oo paidi gl wa (|
et (@
NI (G
sladdl ety (o
L0 el sl U Jlpll
§ gl patll aua Jey JW o
oglailly coyild a3 Sila b wpuzs (0
Adaill §5Lasyly cauds sl Gl eus (<
Leladl 0¥ pe Juol gl s (
(ol 2l il iy AU misngs (2
L0 el s pualall sl
Foyad) S8y pdllal didhe Adgdinn Aodimium § 9 rde durdicd] Lunds Cualds Aeul 9 dadesd &ileLid) A8y
Saalaill s cisliy gl Jeizell JLaL| laail gale
oedtasas (0
Aalld) - 3gall a8las (<
Jeadl o gl asas (z
L0 pdall s et JIpud)
SJLes¥l § polailly Cemdl asllsg cpa s 3o Jiad JWI (50
msls At Ainn 3y Al g bty — lliad) gl Jgr ol cbibp Jubs (1
REPOR
252 5bl Gty By Silmiia g lay) (&
ASyad) Aol g g Ll | 38 50 Blatie Ailes YIS pe udladll (2
L0 pdall s Al sl

Page 5 of 10



5l By Aelive Laydgs @I bl (e cdlall @ilully paiad | (o lasi¥l Bmls padipu Wladl e g g
e duadds Ulee Le olelivall (o degazma

Ao pd dgaludi] (|

gy 2a (<

s (z

Agesge (2

Ol g el J) )

- Joal Bl § olundl 33l (oolell (oo B gazma (A Jlos¥l e
Sl Szl Amazmso B yg4ey JuSG Al (LedSTI) lyleatl oo (g
Slaal (I /
el (@
aldMsl (z
oleas) (3

L 05 pdall s aulill sl
W clallall oe gl — Gaeds al] Oos b &egeml adladdly oudll Goylms ol Ggely B ol 841
’ selgludl fia Tous cdyas
PRI
(oSl g gaell (<
adsled (2
Aasedlly syaddl asyLadl (s
L 080l J) sl
Sedleall Byio Juas o) Az 095 O Lazye putd JWI o0 6
alysball pazs (]
laylell adiss §5absdl (<
syl e cllall Julas (c
NPEN NI PESX I RPPRNFES N
s ookl g saladl J) guddl
Sauls | 4580 eels iy s Los L]
a2 AL yloLall @dle IS4 Blamianll (po Aalail) (nSas (|
Ayl sUas¥lg (Sl ¢ g (oo Azmslid] ool il 2iSa] e sliadll (<
1y nlgalls 0¥ G Bacludl (o
Ayl &els I yo,Lad) B3 oo STl g B! (2
© o g SN ) )
Sl ol gill Tl Bale oy ¥ JUI oo
aggsdlt (] /

Page 6 of 10



@u-‘z.qa-” (&.—1

51,89 o LY (2

Azl i€l of auall slsyatl (o
© oy Nl g Gl ) )

RPUPETL - Aaloc (o oubigS dls Leaud U1 elard! 3505

Somizio § yguay dlosell oSG AL (SLedSI) ilylealf e
Azape (| ’
Al (@

gl (z
© Ol g a1 ) )
Ve 0985 W3 lda — Lt ds (e o)l e Joadl I dados By A Asyhay daligd auell Alolas
ke

dols bad (!
Jole e huad il e (@
Jole b uad lalals (=
sy (2
O Nl g pudad) J) )
§ Sllddly Oguladl olusy duall 93 L8, allai (ro Sua ga JLI u-“é‘
ALl 3Lty Ogastull A8s § Lelezad o3 Bustudl ol ULl US of ustal (|
il Gl Cadiall (593 eSaall Lo 593 piy Sleuiielly ailiad! o uSW (<
ALl Bty O gl A8s 3§ Lbemad 03 Laylao] @3 @l &sludl ol SAL1 S of wsTl (2
Loz @3 Lboams § <oSadl Gl of usSTl (2
0 Ol g Cealidl J) )
el allas oo Yoy pigeasdl e ablucdl elya] allas ulad alial yuad uslg obidiwly JWI US

§ To b Jag AW lyleadl e 6T — Loy
ABsg Ae i Laslyar] (e U Sblud| (] ’

By By 631 Ausll aluadl e L pe S0 Btolelll Ssloglall (<

biled! bt suus ile> 4395 (2

Buguzr Sloglas g3 LS alladdl Eyums badl o (0
= o SN 5 asldl J) )

§ yigeraSIl e JLoM Ay ylobiek Flamo utd JUI (00 g

WS I TR {

Aylayladatials (<

bl ol als e 850801 pae (o

abled! dadasi Lol (o
Dokl g Bl g

Page 7 of 10



 JLaod gLl Alas (o s o SS9 ¥ 05 JUWI 50

LYl bLadd! § 4 oSl @il by (1
Sl ekl Juasyl dhiil gads (@
ULl Jgamsl! aid cogunloell gyl 03,00 5 (2
oo gl cnend L Adlasl cileleally £odl o oyt (3

© O SN 5 Al J) gl

§ 3 oo slawdl &l ¢yl sLaid ¥l Bows §

A gSel Syl pes ([
eball pagass (@
Al e sl o Jas (2
Al o1 5 g AN iy yuis (2

L oY) gl

§s3Latd¥l Ggdl G slaudll 1393 Jioy ¥ JWI o

onSlguall 5Lz (I
Onmiall 5yLa) (@
RO H U PP JOS-PRES DA (I N (P DU+ (G
gl Ao pals (2

oY) Al Jlsad)

§ aball — iglghall dylatt Caimy hadh Jies Al Sllall o
S alge e uaiad LS a1 Jalgadl oo suad Ladg suums wi guosll allaatt (I
Liluswie § olpiald Tabaes o SlGA01 e oy (<
ST il o Ul yaddl il e 5801 8,adl e Ay (2

L osm ¥l (U s

S YL s W o0 gl 35401 G bl ly Slaed) Jemud dud o3 g1 pllaill

’ edlalall allas (1
laglall5ylsf allas (-
Sl adi allas (2
Shlyall eespllas (o

T A e it [ EWA
Salall 3Lasly daladl Ausiedl oo &l iadl ¢ il ppiadl e 3835 n 98l ilawliud| (30 93 g
gl JUW altat (1
A leaayl duleud! (<
NPRvHIINIIN (G
Ageliall bl (2

Page 8 of 10



L 0¥l il N
SJU) ol Slslya| as (e Wlie ptay JUI (e

dazll cdgll § Gassgeld JIgalll ads @iy ({
LY 390> raus Ogady ¥ gl (@
Lo § 98l 5 dnguall Ogaudl (2
el 3k s (-

L Ol pedal) J s

oetslia gf bl o &,LaL1 gy G Aunandll Jo 1o aliylie oy poiiud Bale Ayla¥l e
Sleels) o

¥t (
bl dle (@
! Giela ol ealud! (z
JW ey slagal (3

o M1y il g

Azmsall Lladll 4ol e Joadl oSkl o paspe ol Jadd daially 2adludl lelyaly zlsll

Sl e s JWI (po gl LSl
E VL POVLN | Y PUN IRV E S PR W D (
ALat e Lea¥l 2y (@
PP FSPFEN (g
et el (o

L ooy bl gl

VPSP [ PS-1| B (IPRPR 25 | B (5 | IR I oo (St A8yl § ST
Sodlel alezl JLSY memao 25¥1 Slylaadl (e 6]
ahaatl (0 ,

RO | («
skl (2

s Y Gl gl

Feliiadl Jios Lol Lo Buaodl Araiilly o yuil] Bl adlin Jiad i lg o Lidias foie Lo JUI JS

Sl aslucwsll Lgpe ([
ol e 1,23 Asuall dogadl (<
Cnalo gl pdlls gud dnal il 3503 (o
cdlantl dagasetll § umad! (2

L O Y anldl sl

¢ A 95 Bale (19S5 Loy Akl oS goladl JULI c1a¥ e

JU st (f
&I ezl (@

Page 9 of 10



(gl il (2
L O el J) i)
P g 1dag Gabil § paic AST piay sag (Al 4GS Caads)i 13
Sbead) I Jaly 3Ll e llall gmis (1
Sbedl J) Jazhs b3l o pe g (<
el J) Jatly 33l paye gmia (@
ol ) Lo oManiy bl e oyl doming cllall g (3

Page 10 of 10



All fifty questions are compulsory and must be attempted

Question 1:

Different types of power may be exercised within an organisation on any
different individuals.

Which type of power is associated with formal authority?

A. Recourse.
B. Expert power.
C. Position power.

Question 2:

The demand for fashion goods is not influenced by?

A. Price.

B. Allocative inefficiency among producers.

C. The distribution of income among households.
D. Exception of future price changes.

Question 3:

Which of the following is not aim of internal controls?

A. To enable the organisation to respond appropriately to business
operational and financial risks.

B. To eliminate the possibility of impacts from poor judging and
human error.

C. To help ensure compliance with applicable laws and regulations.

D. To help and ensure the quality of internal and external reports.

Question 4:

Application of process theories to motivation in practice involves all but
one of following measures which the exception?

A. Clarifying intended results.

B. Giving feedback an actual result.

C. Immediacy of reward following results.
D. Consistency of reward for results.
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Question 5:
Which of the following is not purpose of performance appraisal?
A. Job evaluation.
B. Identification of training needs.
C. Succession planning.
Question 6:
When the price of good is held above the equilibrium price, the result
will be?
A. Excess demand.
B. Shortage of the good.
C. A surplus of goods.
D. Anincrease in demand.
Question 7:
A spread sheet software application may perform all of the following
business tasks exception.
Which one of the following is the exception?
A. The presentation of numerical data in the form of graphs and
charts.
B. The application of logical lists to data.
C. The application of “what if’? Scenarios.
D. Automatic correction of all data entered by the operator in to the
spread sheet.
Question 8:
The following, with one exception, are claimed as advantages for job
enrichment as form of job re-design — which is the exception?
A. Itincreases job satisfaction.
B. It enhances quantity of out put.
C. Itreplaces monetary rewards.
D. Itreplaces supervisory costs.
Question 9:
The preparation and filing of account by limited companies each year is
required by which of the following?
A. Codes of corporate governance
B. National legistation.
C. International accounting standards.
D. Local accounting standards.
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Question 10:

Which three of the following did Henri Fayol include in his five functions
of management?

1. Motivating.

ii. Co. ordinating.

iii. Commanding.

iv. Controlling.
A. (i),(ii),(iii)
B. (ii),(iii) and (iv)
C. (i),(ii) and (iv)
D. (i),(iii) and (iv)

Question 11:

All the following except one, are sound principles for devising
performance measure. Which is the exception?

A. They should be related to actual key tasks of the job.
B. They should be easily achievable.

C. They should be within the control the individual.

D. They should be observable or measurable.

Question 12:

Which of the following areas is not an advantage of using e-mail as
communication tool?

A. A security.

B. Speed.

C. Multiple-recipients.
D. Versatility.

Question 13:

If a supervisor in the sales department requests the help of the HR
director in a complex disciplinary matter, what direction is the
communication flow?

A. Vertical.
B. Horizontal.
C. Diagonal.
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Question 14:
Which of the following best defines coaching?
A. Developing the individual by helping to build on skills and
overcome weaknesses.
B. Provision of one-way instruction on formal tasks required to carry
out the immediate job.
C. Offering career guidance in order to maximize the individual’s

potential.
D. Provision of objective advice to overcome the individual’s personal
problems.
Question 15:

Which two of the following are criticisms of relativism?
A. Ittakes no account evolving norms.
B. Itleads to a philosophy of anything goes.
C. It makes short-term desires equivalent to longer-term interest.
D. Itis based on a fundamental contradiction.
Question 16:
The following - with one exception, are potential problems for time
management - which is the exception?
A. An open-door policy of management.
B. A social work group.
C. An assertive style communication.
Question 17:
Which of the following statements is true in relation to the average
revenue function of business in a perfect market?
A. Itis diagonal.
B. Itis horizontal.
C. Itisvertical.
Question 18:
A company has advertised for staff who must be at least 1.88 meters tall
and have been continuous full-time employment for at least five years.
Which of the following is the legal term for this practice?
A. Direct discrimination.
B. Indirect discrimination.
C. Victimisation.
D. Implied discrimination.
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Question 19:

In order to ensure that the policies of an organisation are consistent.
With the public interest, on which of the following should the directors of
company focus?

A. The long-term welfare of the shareholder.
B. Compliance with legal requirements and codes of governance.
C. The collective well-being of stakeholders.
D. Identify suitable way to distribute goods and services.
Question 20:
Which of the following is the MAIN function of marketing?
A. To maximise sale volume.
B. To indentify and anticipate customer need.
C. To persuade potential consumers to convert latent demand
into expenditure.
D. To identify suitable outlets for goods and services supplied.
Question 21:
Which of the following should be the purpose of an appraisal interview?
1. To discuss employee performance.
2. To discipline an employee.
3. To agree an employee’s development needs.
4. To indentify an employee’s development needs.
A. (1) and (3)
B. (1) and (4)
C. (3)and (4)
D. (1) and (2)

Question 22:

Which of the following is not an offence to money laundering?
A. Concealing the proceeds criminal activity.
B. Tipping off.
C. Dealing in price affected securities.
D. Failing to report suspicion of money laundering.

Question 23:

Which of the following is an external stakeholder?
Professional body.

Customer.

Supplier.

Bank of the organisation.

Sowp
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Question 24:
Which of the following is a purpose of job evaluation?
A. Identifying individuals training and development needs.
B. Evaluating the organisation’s recruitment and selection
procedures.
C. Improving upward communication.
D. Demonstrating compliance with equal pay legislation.
Question 25:
A large, well-established construction company organises itself on a
project basis, using temporary matrix and project team structures.
What cultural type is most likely to fit this organisation?
A. Role culture.
B. Power culture.
C. Task culture.
Question 26:
Which of the following is part of the research and development function of
business?
A. The analysis of survey data on customer behavior produced
under contract by an independent market research company.
B. Creating new products and improving existing ones.
C. Contracting independent advertising agencies to promote the
products being sold by the company.
Question 27:
Which is type of un employment arises from a permanent reduction in
demand for the products supplied by single industry or group industries
with traditionally large work force?
A. Frictional.
B. Structural.
C. Cyclical.
D. Seasonal.
Question 28:
Businesses .........c....... are a set of moral principle to guide behavior in
business contexts.
Which of the following words correctly completes the sentence?
Objectives.
Controls.
Ethics.
Disciplines.

oo wp
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Question 29:

Individuals may conform with norms and customs of a group without
real commitment. Which of the following terms describes such behavior?

A. Compliance.

B. Counter-conformity.
C. Internalisation.

D. Identification.

Question 30:

Which of the following is not likely to result from a fall in the exchange
rate?

A. A stimulus to exports.

B. Anincrease in the costs of imports.

C. Reducing demand for imports.

D. Areduction in the rate of domestic inflation.

Question 31:

Which of the following is an aim of internal controls?

A. To enable the organisation to respond appropriatily to business
operational and financial risks.

B. To eliminate the possibility of impacts from poor judging and
human error.

C. To help ensure compliance with applicable laws and regulations.

D. To help and ensure the quality of internal and external reports.

Question 32:

Which of the following is not usually a barrier to effective communication?

A. Distortion

B. Noise

C. Connection between individuals
D. Technical vocabulary

Question 33:

The learning cycle developed by David Koblis aprocess for .........
Learning which of the following words correctly completes this sentence?

A. Programmed.
B. Experiential.
C. Action.
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Question 34:

An employer’s treatment of an employee is so bad that eventually she
resigns even though she liked her work. This would be an example of?

A. Wrong full dismissal.

B. Potentially unfair dismissal.

C. Automatically unfair dismissal.
D. Constructive

Question 35:

Which of the following is an aim of the control system relating to account
payable and purchases?

A. To ensure that all credit notes received are recorded in the general
and pay able ledger.
B. To ensure that goods and services are only supplied to customers
with good credit ratings.
C. To ensure that all credit notes that have been issued are recorded in
the general and receivables ledgers.
D. To ensure that potentially doubtful debts are indentified.

Question 36:

All the following with one exception, are examples of advantages of
computer-based accounting system over a manual system. Which
statement is the exception?

A. Financial calculation can be performed more quickly and
accurately.

B. Financial information can be presented to other business
departments in a variety of forms.

C. There is much stronger provision for data security.

D. The system is easier to update as new information becomes
available.

Question 37:

Which of the following is not a key risk area for computer fraud?

A. Hackers.

B. Lack of managerial understanding.
C. Inability to secure access to data.
D. Integration of data systems.
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Question 38:

Which of the following would not form part of fraud response plan?

A. Suspending staff suspected of fraudulent activity.

B. Investigating the activities contacts of suspected fraudster.
C. Changing passwords for computer access.

D. Fraud awareness training and recruitment controls.

Question 39:

In a free market economy, the price mechanism.

A. Aids government control.

B. Allocates resources.

C. Reduces unfair competition.
D. Measure national wealth.

Question 40:

Which of the following is not one of the roles performed by prices in
market economy?

A. A signal to consumers.

B. A signal to producers.

C. A way of allocation resources between competing uses.
D. To insure the distribution method.

Question 41:

Which one of the statements below best describes contingency theory?

A. Organisational design will be determined by number of factors all of
which depend on the others.

B. Companies must plan for changes to their organisation.

C. Companies should focus on the short-term as the future is
uncertain.

Question 42:

The system used by company to record sales and purchases is an
example at which of the following?

A transaction processing system.

A management information system.
An office automation system.

. A decision support system.

oOowE

Page 9 of 11



Question 43:
Which type of government policy focuses on taxation public borrowing
and public spending?
A. Fiscal.
B. Social policy.
C. Monetary policy.
D. Industry policy.
Question 44:
Which of the following is example of weak financial control procedures?
A. Suppliers not being paid on time.
B. Debtors not paying within credit limits.
C. Excessive bad or doubt full debts.
D. All of the above.
Question 45:

Management reports are often used to make comparison within the
organisation where comparison is made between products. Which
measure would be used?

A. Gross profit.

B. Net profit.

C. Contribution.

D. Return on capital.
Question 46:

Health and safety regulation cover arrange of work place health and

safety issues which of the following is not covered by regulation?
A. Handling and storage of chemicals.
B. Lifting heavy objects.
C. Computers.
D. Pregnancy.
Question 47:
The total level of demand in the company is made up of consumption,
................. , government expenditure and net gains from international trade.
Which of the following correctly completes the sentence above?
A. Savings.
B. Taxation.
C. Investment.
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Question 48:

All of the following with one exception are clear benefits of training and
development for an organisation. Which of this is an exception?

A. Increased organisational flexibility.

B. Less need for detailed supervision.

C. Enhanced employ ability of staff members.
D. Improved succession planning.

Question 49:

In atypical finance function, budgets and budgetary control would
usually be the responsibility of which of the following roles?

A. The financial controller.
B. The management accountant.
C. The chief executive.

Question 50:

The cost of Milk rises, and Milk is a major ingredient in yoghurt, then the:

A. Demand curve for yoghurt shifts to the left.

B. Supply for yoghurt curve shifts to the left.

C. Supply curve for yoghurt shifts to the right.

D. Demand and supply curve for yoghurt both shifts to the right.
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Answer F1

First Section

1) C
2) A
3) B
4 C
5 A
6) C
7) A
8) C
9) B
10) B
11) B
12) A
13) C
14) A
15) A
16) C
17) B
18) B
19) C
20) B
21) B
22) B
23) A
24) D
25) C
26) C
27) B
28) C
29) A
30) D
31) B
32) C
33) B
34) D
35) A
36) C

2

Page 1 of



37)
38)
39)
40)
41)
42)
43)
44)
45)
46)
47)
48)
49)
50)
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